
Start

Your workers spent 
14 hours in the hot 
sunshine yesterday 

without enough water.  
Go back 3 spaces

Everyone had a break 
when they had been 

working for some time.  
Move forward 3 spaces.

You have children 
working for you. Go 

back 3 spaces.

Everyone has been paid 
enough to feed their 

families.  Move forward 
3 spaces.

Everyone 
who works for 

you is an adult.

Move forward 
3 spaces.

Your workers have 
not had a break for 
10 hours. Go back 2 

spaces.

Finish!

You didn’t dry your 
cacao beans for long 
enough. Move back 3 

spaces.

You have 
not paid 

everyone a fair 
wage for the hours 

they have worked.  Go 
back 3 spaces.

You have 
not tested your 

products on animals. 
Move forward 3 spaces.

Fairtrade


